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.
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i:@.ﬁz 2sec’ (2x+3)
dc dt dx
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—— =—sin(cos = cos(cosx”)—/(cos f
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=—2x sin x? cos(cos x?)
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S a b 5. w 6. cosx’.sin’(x”)
cos (ex+d)
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xe (-1, 1)(5’3
gl A ngﬂ:g.LLuﬂa;gJ/,ﬂ,Q}U!
éu’w’% sin(sin ' x) = x ééx € (71,1),(5;5‘«.!

cos® y = I~(sin y)* = 1=(sin(sin ' x))* = 1
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LLxe 1, DL
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dx cosy 1—x?
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X =tanyFe y = tan "’ xéc)hdy

-‘at‘nJalpuf‘;q:L/Jﬁ(d/ui»’gnizﬁ;:’/x
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fx) Ccos X cot ' x sec'x cosec 'x
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¢ x—)logbx=y)/gb-"=x
y =log;yx

gfﬁ:;.b - 10JVI/7@/’J£;.:

(1,0) Y
X' >X A b=elnle P St
I8t e I3 S
fﬁﬁ@xuﬁvwl”&m’p%w@m
v os10f 2ol e LG et

_c‘:.&}jl/i10/}’2,eJVL(GKU:"6F/@5.lof_nggwlogx
Lt F el L Lo Sy b e B0
Y (=) S L e =2 A 1)

=}

(V,=x) . e 7

X R 5L a2 S
(y=logeV) >
V=08 s N

N X e et Frie Gt e

-‘am/?bsl//iu“*@ﬂ.ﬁ:‘:(l,mﬂ 3)

| (544&‘& Cr Coy 2 u’“ﬁfu@)
’ s Sl Er bl e UL
YA

e & oS P e e s E5 58 10g v oz fend pord Lx (5)
(bl Juf&i,mu? )Latw'z.S)J/i OGS 5 S

G/;;ugd’j;f§.aggfu;5}ugtﬁ,glﬁ»,_€y ~ nesle G b8 y=c s 11 (6)
B R RN Y ¢

~Q7§¢U(ut‘éoyr‘%)u(uia;@




192 &L
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eixdpr=e" s <y =xUAUI-logy = log(*") = log x.loge = logx <
_‘a.:/uéd:u:/ﬁ

st | syl I3 e e it IS e 3
Gl I el Pl S
5 A

d ) s,
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x ¢
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1. € 2. e'x 3. €
sin x
4. sin (tan' ™) 5. log (cos €) 6. € +e" +.+e"
COS X
7. \/e&, x>0 8. log(logx),x>1 9. logx’ x>0

10. cos (log"+¢"), x>0

(Logarithmic Differentiation)Jﬁ@@S.S
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log y= %[log(x—3) +log(x* +4)—log(3x* + 4x +5)]
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l.ﬂ:l[ Lo 2 6x+4 }

yode 2| (x-3) x*+4 3x’+4x+5
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=3+ L 2x  6x+4
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‘aug;/w(/?&..@(_s/ui» y=xnF éuhdﬂ

log y=sin x log x

1 dv . d d .
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log v=y log x
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ey L 65 us

1
w

dw d d
—=x—(1 +1 —
dx > dx( ogx)+logx dx )

1
=x-—+logx-1
x

u‘”:%:w (1+1log x)
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1. cosx.cos 2x. cos 3x 2. (x—3) (x—4) (x-5)
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dy dx
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1. x=2a12,y:at4 2. x=acosb,y=bcosO
4
3. x=sint,y = cos 2t 4. x=4t,y=7
5. x=cos0 —cos20,y=sinO — sin 20
sin’ ¢ cos’ ¢

6. x=a®-sinB),y=a (1 + cosb) 7. x:,m,y—m

t
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